
3DJH��

A
vi

at
io

n

Phone: (860) 526-9504
Internet: www.flyWAT.com
Sales/Service e-mail: info@flyWAT.com

������:KHOHQ�$HURVSDFH�7HFKQRORJLHV
)RUP�1R������'���������

,QVWDOODWLRQ�*XLGH�,&$�
0RGHO�V������������������������������������

3�1�V�������������������������������
/('�:LQJWLS�$QWL�&ROOLVLRQ��

3RVLWLRQ�/LJKW�$VVHPEO\

The conditions and tests required for TSO approval of this article are minimum performance standards.
Those installing this article either on or within a specific type or class of aircraft must determine that
the aircraft installation conditions are within the TSO standards which include any accepted integrated
non-TSO functions. TSO articles and any accepted integrated non-TSO function(s) must have separate
approval for installation in an aircraft. The article may be installed only according to 14 CFR part 43 or
the applicable airworthiness requirements.

������:$51,1*��7KLV�SURGXFW�FDQ�H[SRVH�\RX�WR�FKHPLFDOV�LQFOXGLQJ�0HWK\OHQH�&KORULGH�ZKLFK�LV�NQRZQ�WR�WKH�6WDWH�RI�&DOLIRUQLD�WR�FDXVH�FDQFHU��DQG
%LVSKHQRO� $�� ZKLFK� LV� NQRZQ� WR� WKH� 6WDWH� RI� &DOLIRUQLD� WR� FDXVH� ELUWK� GHIHFWV� RU� RWKHU� UHSURGXFWLYH� KDUP�� )RU� PRUH� LQIRUPDWLRQ� JR� WR
ZZZ�3��:DUQLQJV�FD�JRY�

TSO-C30c 
TYPE I, II;
APPROVED

TSO-C96a 
CLASS II;
APPROVED

CONNECTOR
D38999/20FB5PN

Note: SYNC is a low power, input
control signal. Connecting the synchronize
signal of any Whelen LED Anti-collision
assembly will cause the lights to flash at the
same time. If synchronization is not needed,
the connection may be left open.

Connector Wiring
A 28VDC (Position)

B Ground
C 28VDC (ACL)
D Ground
E SYNC (see note)

LEFT HD - INBOARD

�� 5HPRYH�DQG�GLVFDUG�WKH����HLJKW��VFUHZV�DQG�QXWV�VKRZQ�

�� 5HPRYH�/HQV�5HWDLQHU�DVVHPEO\�IURP�WKH�/('�PRGXOH

�� 3RVLWLRQ�WKH�/HQV�5HWDLQHU�DVVHPEO\�RQWR�WKH�ZLQJWLS�PRXQWLQJ�IODQJH
LQ�LWV�PRXQWHG�SRVLWLRQ�

�� 8VLQJ� WKH� /HQV�5HWDLQHU� DVVHPEO\� DV� D� WHPSODWH�� PDUN� WKH� ��
PRXQWLQJ�KROH�ORFDWLRQV�RQWR�WKH�ZLQJWLS�PRXQWLQJ�IODQJH�

�� 5HPRYH�WKH�/HQV�5HWDLQHU�DVVHPEO\�IURP�WKH�ZLQJWLS�PRXQWLQJ�IODQJH
DQG� GULOO� WR� SURYLGH� ���� WKUHDGHG� PRXQWLQJ� KROHV�� 127(�� 7KH� +�
EUDFNHW�KROHV����SODFHV��GR�QRW�UHFHLYH�WKUHDGV�DW�WKLV�WLPH�

�� 5HPRYH�WKH�+�EUDFNHWV�IURP�WKH�/('�PRGXOH��'R�QRW�GLVFDUG�WKH����
����VFUHZV�

�� 3ODFH� WKH� DSSURSULDWH�+�EUDFNHW� LQWR� LWV� LQVWDOOHG� SRVLWLRQ� LQVLGH� WKH
ZLQJWLS�PRXQWLQJ�IODQJH��6HFXUH�WKH�+�EUDFNHW�WR�WKH�ZLQJWLS�PRXQWLQJ
IODQJH�XVLQJ�D�&OHFR�FODPS�DW�WKH���PRXQWLQJ�KROH�ORFDWLRQV�

�� :LWK� WKH�+�EUDFNHW� LQ�SRVLWLRQ��PDWFK�GULOO� DQG� ULYHW�D��������OXJ�QXW
SODWH�WR�WKH�LQVLGH�RI�WKH�+�EUDFNHW����SODFHV���127(��7KH�+�EUDFNHW�LV
QRZ�SHUPDQHQWO\�DIIL[HG� WR� WKH�DLUFUDIW��5HSHDW� IRU� WKH� UHPDLQLQJ�+�
EUDFNHW�

�� 6HFXUH� WKH� /('� PRGXOH� RQWR� WKH� LQVWDOOHG� +�EUDFNHWV� XVLQJ� WKH
RULJLQDO�KDUGZDUH�

��� 0DNH�WKH�QHFHVVDU\�ZLULQJ�FRQQHFWLRQV�DQG�WHVW�IRU�SURSHU�RSHUDWLRQ
RI�WKH�/('�PRGXOH�

��� 8VLQJ�WKH�DSSURSULDWH�����IODW�KHDG�VFUHZV��LQVWDOO�WKH�/HQV�5HWDLQHU
DVVHPEO\�RQWR�WKH�ZLQJWLS�PRXQWLQJ�IODQJH�

��� &KHFN�DOO�DYLRQLFV�V\VWHPV�IRU�LQWHUIHUHQFH�IURP�WKLV�LQVWDOODWLRQ�

��� $�IOLJKW�FKHFN�VKRXOG�EH�SHUIRUPHG�E\�D�SURSHUO\�FHUWLILHG�SLORW�

��� ,I�UHTXLUHG��XSGDWH�DLUFUDIW�UHFRUGV�XWLOL]LQJ�)$$�)LHOG�$SSURYDO��)RUP
�����RU�HTXLYDOHQW�

63(&,),&$7,216�
1RPLQDO�2SHUDWLRQDO�9ROWDJH� �������������������������������9'&
�2SHUDWLRQDO�IURP������9'&�
,QSXW�&XUUHQW��
*UHHQ�/('�3RVLWLRQ�/LJKW�����������������������������������������$PSV
5HG�/('�3RVLWLRQ�/LJKW ��������������������������������������������$PSV
/('�$QWL�&ROOLVLRQ�/LJKW��$YJ�� ���������������������������������$PSV
)ODVKUDWH ��������������������������������������������������������������������)30

(48,30(17�/,0,7$7,216��$Q�DSSURYHG�IRUZDUG�OLJKWLQJ�V\VWHP�FRQVLVWV�
RI�WZR�ZLQJWLS�DVVHPEOLHV��7KH�ZLQJWLS�DWWDFKPHQW�LV�GHILQHG�LQ�:KHOHQ�
'RFXPHQW�7)���

&HUWDLQ�W\SHV�RI�LQVWDOODWLRQV�PD\�UHTXLUH�DGGLWLRQDO�WHVWLQJ�

$,5:257+,1(66�/,0,7$7,216��7KH�$LUZRUWKLQHVV�/LPLWDWLRQV�VHFWLRQ�LV
)$$� DSSURYHG� DQG� VSHFLILHV� LQVSHFWLRQV� DQG� RWKHU�PDLQWHQDQFH� UHTXLUHG
XQGHU��������DQG���������RI� WKH�)HGHUDO�$YLDWLRQ�5HJXODWLRQV��XQOHVV�DQ
DOWHUQDWLYH� SURJUDP� KDV� EHHQ� DSSURYHG�� 1R� DLUZRUWKLQHVV� OLPLWDWLRQV� DUH
DVVRFLDWHG�ZLWK�WKH�LQVWDOODWLRQ�RI�WKH�OLJKW�DVVHPEO\�
&217,18('�$,5:257+,1(66��7KH� DQWL�FROOLVLRQ� OLJKW� LV� GHVLJQHG� ZLWK
���/('V��7KH�SRVLWLRQ�OLJKW�LV�GHVLJQHG�ZLWK����UHG�RU����JUHHQ�/('V�
,I�DQ\�RQH�EDQN�RI�/('V�IDLOV�IRU�WKH�$QWL�&ROOLVLRQ�OLJKW�RU�WKH�SRVLWLRQ�OLJKW�
WKH�DVVHPEO\�VWLOO�PHHWV�WKH�)$5�UHTXLUHPHQWV�IRU�LQWHQVLW\�DQG�FKURPDWLFLW\�
,I� D� VHFRQG� EDQN� RI� /('V� IDLOV� IRU� HLWKHU� WKH� $QWL�&ROOLVLRQ� OLJKW� RU� WKH
3RVLWLRQ�OLJKW��WKH�HOHFWURQLFV�PRGXOH�PXVW�EH�UHSODFHG�

1RWH��7KH�XQLW�KDV�DQ�LQWHUQDO�GLDJQRVWLF�FLUFXLW�WR�GHWHFW�IDLOXUHV��,I�D
IDLOXUH�RI�PXOWLSOH�EDQNV�RI�/('V�LV�GHWHFWHG��WKH�XQLW�ZLOO�VKXW�RII�WKDW
SRUWLRQ�RI�WKH�OLJKWKHDG�DIWHU�������VHFRQGV�
7R� UHGXFH�H\H�VWUDLQ��XVH�DQ�RSWLFDO� ILOWHU�VXFK�DV�GDUN�JODVVHV�RU�D
EOXH�FRYHULQJ�GRPH�GXULQJ�/('�LQVSHFWLRQ�
7KH� OHQV� DUHD� RI� WKH� DVVHPEO\� LV� HTXLSSHG� ZLWK� DQ� DEUDVLRQ� UHVLVWDQW�
SURWHFWLYH�PDVN��7KLV�PDVN�VKRXOG�EH� LQVSHFWHG� IRU�H[FHVVLYH�VFUDWFKLQJ�
SLWWLQJ��GLVFRORUDWLRQ��FXWV��EOLVWHUV��SHUIRUDWLRQV�RU�HGJH�OLIWLQJ��5HSODFH�WKH
OHQV�UHWDLQHU�DVVHPEO\�DV�UHTXLUHG�

7KH�DEUDVLRQ�SURWHFWLYH�PDVN�UHTXLUHV�SHULRGLF�FOHDQLQJ�DQG�ZD[LQJ��&OHDQ
OHQV�ZLWK� D� QRQ�DOFRKRO� EDVHG� FOHDQLQJ� VROXWLRQ��$IWHU� FOHDQLQJ�� ZD[� OHQV
ZLWK�D�QRQ�VLOLFRQ�EDVHG�SDVWH�ZD[�

7KH�DEUDVLRQ�PDVN��HURVLRQ�ERRW�WDSH��LV�LQVWDOOHG�WR�SURWHFW�DQG�SURORQJ�WKH
OLIH�RI�WKH�OHQV��7KH�DLUFUDIW�LV�SHUPLWWHG�WR�GLVSDWFK�ZLWK�DQ�DEUDVLRQ�PDVN
WKDW�KDV�EHJXQ�WR�SHHO��+RZHYHU��VXFK�D�FRQGLWLRQ�QHHGV�WR�EH�PRQLWRUHG
FORVHO\�E\�WKH�RSHUDWRU��DQG�LI�WKH�OHQV�EHJLQV�WR�JHW�FORXG\��KD]\��RU�LI�WKH
EODFN� SDLQW� VWDUWV� WR� SHHO�� WKHQ� WKH� UHSODFHPHQW� RI� WKH� OHQV� DVVHPEO\� LV
UHTXLUHG�DQG�GLVSDWFK�LV�QRW�UHFRPPHQGHG��8QGHU�VXFK�FRQGLWLRQV�WKH�OHQV
ZLOO� QR� ORQJHU� PHHW� WKH� UHTXLUHG� UHJXODWRU\� RSHUDWLRQDO� SHUIRUPDQFH
UHTXLUHPHQWV�

3(5,2',&�,163(&7,216��$Q�DQQXDO�LQVSHFWLRQ�VKDOO�EH�SHUIRUPHG�XQOHVV
WKH�2(0�VSHFLILHV�D�VKRUWHU�LQWHUYDO�

,167$//$7,21�352&('85(��7KH�IROORZLQJ�LQIRUPDWLRQ�LV�WR�DVVLVW�\RX�LQ
LQVWDOOLQJ� D�:$7� OLJKW� V\VWHP�� 3OHDVH� UHIHU� WR� WKH� 2(0�PDQXDO� IRU� \RXU
DLUFUDIW�IRU�VSHFLILF�UHPRYDO�DQG�LQVWDOODWLRQ�LQVWUXFWLRQV��

&$87,21��'R�QRW� WRXFK�WKH�/('V�ZLWK�HLWKHU�ILQJHUV�RU�VKDUS�REMHFWV��DV
WKLV�FRXOG�VRLO�RU�GDPDJH�WKH�/('V�DQG�HIIHFW�WKH�RSWLFDO�SHUIRUPDQFH�RI�WKH
OLJKW�



3DJH��

H-Bracket

H-Bracket

#10 Screw

Model(s) 9063001, 9063002

Model(s) 9063003, 9063004

#10 Screw

Shipping
Hardware

Shipping
Hardware

2

2

3

3

4

4

5

5

1

1

1

1

2

2

3

3

4

4

5

5

01-0290657-R0

01-0290657-R1

01-0290657-L0

01-0290657-L1

02-0390641-R0

02-0390641-R1

02-0390641-L0

02-0390641-L1

14-06221C-060

14-06221C-060

LED Module, Right, Green

LED Module, Right, Green

LED Module, Left, Red

LED Module, Left, Red

Assy, Lens/Retainer, Right

Assy, Lens/Retainer, Right

Assy, Lens/Retainer, Left

Assy, Lens/Retainer, Left

Screw, 6-32 x 3/8 PPHMS

Screw, 6-32 x 3/8 PPHMS


